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12 Jacobi Z#kiE
12.1 FBA Riemann D EHA & Albanese Z#kik
ZDHEIFITIE R 2 g OB Riemann & 3 5.
EE 12.1.1. (1) RERY—F H (R, Z) DEIE {a1, ..., 04,81, ..., By} 1&, B
ai-a; =0=pi- 35, i fj = di
ERBLEIVTLITAvIEELHIENS.

Hl(R,Z) 0)?\/\/701/?7‘4 v 7%% {al,...,ag,ﬂl,...,ﬂg} el bf, RJ:@*‘,‘.J—:_': Po %ﬁé)f—itj—é 29 $0)
#2575 3 DT, ZNS TR ZYIVHL & 49 ARIZR 23 D0 H 5 (T 12.1 Sif).

121 g=3DFEDY Y TL I T 1 v 7 HE

EE. M g O Riemann i R 3t U, JARIFT5] Q 205 % 5 LRl Abel 2K C9/Q % R ® Albanese
Z#k{E (Albanese variety) IFC, AIbR & KT .

12.2  Jacobi Z ik

HHARD Picard ZHkE DR (& 10.3.1) 2B Wili% 5. C LOIERRFEMARBEFROMRD DI, WIind 5
fE# g OB Riemann H R TEH< & Pic R = H'(R,0r)/H"(R,Z) ~ C9 /729,

EHE 12.2.1. Alb R ~ Pic’ R.

SEEAODIERE. [/MbKO5, §9.2] DFFHZMN T 5. £ T Pic R I2DOWTH X 5. Hodge #f# H'Y(R,C) =
HY @ HO' HY0 .= HO(R,QR), H*' := HY(R,Og) ~ HL0 %5

Pic’ R ~ H"' /7% Y (HY(R,Z)) (12.1)
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Y5 HL 700 . HY(R,C) — HOU 35 ThH 0, £ 7 HRBIEDARGEIZ X >T HY(R,Z) C H'(R,C)
YamULTWS. Alb R IZDWT HERIC, B2 0 Hodge 4# Hi(R,C) ~ H'(R,C)* = Hy o ® Hoy 1,
Hl,O = (Hl’o)*, H()’l = (Ho’l)* Z%ﬂ‘?\ﬁ 7T071 . Hl(R, (C) — HO,l %{%OVC

AlbR ~ H%' /7% (HY(R,7Z)). (12.2)

A (12.1) & (12.2) 25, SERB N : HY(X,C) = H (X,C) TH->T, n(HY(X,Z)) iZHIRS 5 LT D
IR m(HY(X,2)) S m(Hy(X,Z) 252560 nIg, @EAERS NG, N EHMC LS8
£ 0 Y- IR R

HY(C) x HY(C) — C, (p,9) = / oA
R
& Poincaré M DOEK L TNIER . O
FISE 12.1 (x). A DA r(HY (X, Z)) = n(Hi(X,Z)) 2525 2 & &Rt

£#. B Riemann [fi R (23 U, X4 Abel k(A Alb R ~ Pic’ R % R ® Jacobi Z#{& (Jacobi variety)
LY, Jac R THRT.

123 7—9HF
PAR e(z) := exp(2myV/—12) &GS 5.
EFH. Siegel LHAEMDK T H, & 2 CIITHL

0(r,z) == Z e(Ir'1/2 +1'2)

leZ9

£958,0139H,xCY LOEHIBEBZEDS. % Riemann T — 4§ HE & I8
B 12.2 (x). Riemann 7 — X BB OEEIAMEZ HEAPD & mn e Z9 12 LT
0(1,z + mr +n) = 0(r,2) - e(—m7'm/2 — m'(z + n))
WE. 79, 1N, 0(r, 2) ZEGE Abel BBk T = C9/(] ) EOBRBEHKOUN &L 2ist 5.

EFE. R 2 g O Riemann & 9 5. IXTEE 5 Jacobi ZHEIK Jac R = (Cg/(;g) DAY O 275—4%H

F (theta divisor) & &
© = {[z] € JacR | O(7,2) = 0}.

EAGEIR

RIE 1/24 (OK) DEef&ETd. LR — b OfidY) » H x| O#HE 7TIEZITT.
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